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LAPLOSHEKA was one of the meanest men [ have ever met. and quite one of the most entertaining. He said
horrid things about other people i such a charming way that one forgave hun for the equally horrid things he
said about oneself behind one's back. hating anything in the way of ill-natured gossip ourselves. we are always
grateful to those who do it for us and do 1t well . And Laploshka did it really well.

Naturally Laploshka had a large circle of acquaintances. and as he exercised some care in their selection
it followed that an appreciable proportion were men whose bank balances enabled them to acquiesce
indulgently in his rather one-sided views on hospitality. Thus , although possessed of only moderate means. he
was able to live comfortably within his income, and still more comfortably within those of various tolerantly
disposed associates.

But towards the poor or to those of the same limited resources as himself his attitude was one of watchful
anxicty: he seemed to be haunted by a besetting fear lest some fraction of a shilling or franc. or whatever the
prevailing coinage might be, should be diverted from his pocket or ervice into that of a hard-up companion.

A two-franc cigar would be cheerfully offered to a wealthy patron .on the principle of doing evil that good
may come .but I have known him indulge in agonies of perjury rather than admit the ineriminating possession
of a copper coin when change was needed to tip a waiter. The coin would have been duly returned at the
earliest opportunity- he would have taken means to ensure against forgetfulness on the part of the borrower -
but accidents might happen. and even the temporary estrangement from his penny or sou was a calamity to be
avoided .

The knowledge of this amiable weakness offered a perpetual temptation to play upon Laploshka's fears of
mvoluntary generosity. To offer him a lift in a cab and pretend not to have enough money to pay the fare. to
fluster him with a request for a sixpence when his hand was full of silver just received in change .these were a
few of the petty torments that ingenuity prompted as occasion afforded. To do justice to Laploshka's
resourcetulness it must be admitted that he always emerged somehow or other from the most embarrassing
dilemma without m any way compromising his reputation for saying "No". But the gods send opportunities at
some time to most men .and mine came one evening when Laploshka and T were supping together in a cheap
boulevard restaurant. (Except when he was the bidden guest of some one with an irreproachable income.
Laploshka was wont to curb his appetite for high living :on such fortunate occasions he let it go on an casy
snaffle.) At the conclusion of the meal a somewhat urgent messsage called me away and without heeding my
companion's agitated protest, I called back cruelly. "Pay my share: I'll settle with you tomorrow." Early on the
morrow Laploshka hunted me down by instinet as I walked along a side street that I hardly ever frequented .
He had the air of a man who had not slept.

"You owe me two francs from last night." was his breathless greeting.

Sub questions

Question Number : 1 Question Id : 6863406775 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The acquaintances of Laploshka accepted his one-sided views on hospitality because :

1. They had great admiration for Laploshka. the charm

2

. They had ample bank-balance to indulge an entertainer like Laploshka

L]

. They had a great sense of sympathy for Laploshka who was not so nice

4. They wanted to flaunt their richness m front of Laploshka



Options :

68634026801. 1
68634026802. 2
68634026803. 3
68634026804. 4

Question Number : 2 Question Id : 6863406776 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The knowledge of this amicable weakness offered a perpetual temptation to play upon Laploshka's fears of
involuntary generosity :

The underlined phrase refers to:

1. Laploshka's inclination to form friendships with affluent men.
2. Laploshka's habit of lying when the borrower asked for money.
3. Laploshka's inability to part with his money and his obsession to secure it.
4. Laploshka's principle of doing evil that good may result .

Options :

68634026805. 1

68634026806. 2

68634026807. 3
68634026808. 4

Question Number : 3 Question Id : 6863406777 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be inferred from the excerpt.

A The author wanted to inflict petty torments on Laploshka for fun.

B. Laploshka chose to befriend the affluent and steered clear of the poor.

C. Laploshka curbed his appetite when dining with rich friends.

D. Laploshka was haunted by the fear of losing his two franks of the author.

E. The author was a cruel man who intended to torture Laploshka.

1.Band C

| )

.Dand E
3. A.CE only

4. AB and D only

Options :
68634026809. 1



68634026810. 2
68634026811. 3
68634026812. 4

Question Number : 4 Question Id : 6863406778 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the expressions in list I with their meaning/extension in list II

Match List T with List IT

LISTI LIST IT
A l;:;-med by @ hesciting I Jpursued me till he caught me
Gods send ] S ;
0 bbmssswa | & to trap Lalf:losh.l-:a mto nvoluntary
Zenerosity
men
& W s . est‘r_anganen‘r from his penny to the
advantage of someone poor
the author's chance to sup with
D. Jperpetual temptation IV. [Laploshka at a boulevard
restaurant.

Choose the correct answer trom the options given below:

1. A-IIT : B-I :C-I1; D-IV

[ )

CASIT B-IV: C-1:D-II
AN :B-IT: C-IV: D-1
4. A-1:B-II:C-II:D-IV

Options :

68634026813. 1

68634026814. 2

68634026815. 3
68634026816. 4

Question Number : 5 Question Id : 6863406779 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

The author's tone in the passage i3 :

1. humorous

2. serious
3. pedautic
4. harsh

Options :
68634026817. 1



68634026818. 2
68634026819. 3
68634026820. 4

Question Id : 6863406774 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

LAPLOSHKA was one of the meanest men [ have ever met. and quite one ot the most entertaining. He said
horrid things about other people in such a charming way that one forgave him for the equally horrid things he
said about oneself behind one's back. hating anvthing in the way of ill-natured gossip ourselves, we are always
grateful to those who do it for us and do it well . And Laploshka did it really well.

Naturally Laploshka had a large circle of acquaintances. and as he exercised some care in their selection
it followed that an appreciable proportion were men whose bank balances enabled them to acquiesce
indulgently in his rather one-sided views on hospitality, Thus , although possessed of only moderate means. he
was able to live comfortably within his income, and still more comfortably within those of various tolerantly
disposed associates.

But towards the poor or to those of the same limited resources as himself his attitude was one of watchful
anxicty: he seemed to be haunted by a besetting fear lest some fraction of a shilling or franc. or whatever the
prevailing coinage might be, should be diverted from his pocket or service into that of a hard-up companion.

A two-franc cigar would be cheerfully offered to a wealthy patron .on the principle of doing evil that good
may come .but I have known him indulge in agonies of perjury rather than admit the incriminating possession
of a copper coin when change was needed to tip a waiter. The coin would have been duly returned at the
earliest opportunity- he would have taken means to ensure against forgetfulness on the part of the borrower -
but aceidents might happen. and even the temporary estrangement from his penny or sou was a calamity to be
avoided .

The knowledge of this amiable weakness offered a perpetual temptation to play upon Laploshka's fears of
mvoluntary generosity. To offer him a lift in a cab and pretend not to have enough money to pay the fare. to
fluster him with a request for a sixpence when his hand was full of silver just received in change .these were a
few of the petty torments that mgenuity prompted as occasion afforded. To do justice to Laploshka's
resourcefulness it must be adnutted that he always emerged somehow or other from the most embarrassing
dilemma without i any way compromising his reputation for saying "No". But the gods send opportunities at
gome time to most men .and mine came one evening when Laploshka and I were supping together in a cheap
boulevard restaurant. (Except when he was the bidden guest of some one with an irreproachable income,
Laploshka was wont to curb his appetite for high living :on such fortunate occasions he let it go on an easy
snaftle.) At the conclusion of the meal a somewhat urgent messsage called me away and without heeding my
companion's agitated protest, I called back cruelly. "Pay my share: I'll settle with you tomorrow.” Early on the
morrow Laploshka hunted me down by mstinct as I walked along a side street that I hardly ever frequented .
He had the air of a man who had not slept.

"You owe me two francs from last night." was his breathless greeting.

Sub questions

Question Number : 1 Question Id : 6863406775 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The acquaintances of Laploshka accepted his one-sided views on hospitality because :

1. They had great admiration for Laploshka. the charm

| S

. They had ample bank-balance to indulge an entertainer like Laploshka

L S]

. They had a great sense of sympathy for Laploshka who was not so nice
4. They wanted to flaunt their richness in front of Laploshka

Options :

68634026801. 1
68634026802. 2
68634026803. 3
68634026804. 4

Question Number : 2 Question Id : 6863406776 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The knowledge of this amicable weakness offered a perpetual temptation to play upon Laploshka's fears of
involuntary generosity :

The underlined phrase refers to:

1. Laploshka's inclination to form friendships with affluent men.

2

. Laploshka's habit of lying when the borrower azsked for money.
3. Laploshka's inability to part with his money and his obsession to secure it.
4. Laploshka's principle of doing evil that good may result .

Options :

68634026805. 1
68634026806. 2
68634026807. 3
68634026808. 4

Question Number : 3 Question Id : 6863406777 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following can be inferred from the excerpt.
A. The author wanted to inflict petty torments on Laploshka for fun.
B. Laploshka chose to befriend the affluent and steered clear of the poor.
C. Laploshka curbed his appetite when dining with rich friends.
D. Laploshka was haunted by the fear of losing his two franks of the author.
E. The author was a cruel man who mtended to torture Laploshka.
1.Band C
2.DandE
3.A.CE only

4. AB and D only

Options :

68634026809. 1
68634026810. 2
68634026811. 3
68634026812. 4

Question Number : 4 Question Id : 6863406778 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the expressions in list I with their meaning/extension in list II

Match List T with List IT

LISTI LIST IT
A l;::;med by @ hesciting I Jpursued me till he caught me
Gods send ] S .
0 bbmssswa | & to trap Lalf:loshl{a mto nvoluntary
Zenerosity
men
& W s I estrangement from his penny to the
: " |advantage of someone poor
the author's chance to sup with
D. Jperpetual temptation IV. [Laploshka at a boulevard
restaurant.

Choose the correct answer trom the options given below:

1. A-IIT : B-I :C-I1; D-IV

[ )

CASIIL: B-IV : C-1: D-II

AT :B-IIT: C-IV: D-1

4 A-1:B-II:C-III : D-IV



Options :

68634026813. 1
68634026814. 2
68634026815. 3
68634026816. 4

Question Number : 5 Question Id : 6863406779 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The author's tone in the passage is :

1. humorous

2. serious
3. pedautic
4. harsh

Options :

68634026817. 1

68634026818. 2

68634026819. 3
68634026820. 4

Sub-Section Number : 2
Sub-Section Id : 686340209
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 6863406780 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List [T

LIST I LISTII
A |The bride and groom walked slowly down the | L feourse
B. |She can't abide language and stupidity. II. foarse
C. [He was pained to see tears down her cheeks. I psle
D. |l wish 1o visit the remote of slove. IV. jaisle

Choose the correct answer from the options given below:

LA-IIT: B-IT : C-I : D-IV

| )

CA-TIL: B-1: C-II: D- IV
3. A-IV; B-II: C-[ ; D-III
4. A-IV: B-I; C-IT; D-IIT

Options :
68634026821. 1



68634026822 2
68634026823 3
68634026824. 4

Question Number : 6 Question Id : 6863406780 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List [T

LIST I LISTII
A |The bride and groom walked slowly down the | L feourse
B. |She can't abide language and stupidity. II. koarse
C. [He was pained to see tears down her cheeks. 111 jisle
D. |l wish 1o visit the remote of slove. IV. jaisle

Choose the correct answer from the options given below:

1.A-III : B-II : C-I: D-IV

| )

CA-TIL: B-1: C-II: D- IV
3. A-IV: B-II: C-1 : D-III
4. A-IV: B-1: C-IT; D-IIT

Options :

68634026821. 1

68634026822. 2

68634026823. 3
68634026824. 4

Question Number : 7 Question Id : 6863406781 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Choose the correct option to change the following sentence into passive voice:-

It is believed that the thieves got in through the kitchen window.

1. It 1s believed that the thieves were got in through the kitchen window.

| B

. The thieves are believed to have got in through the kitchen window.
3. The thieves were believed to have got in through the kitchen window:.
4. It was believed that the thieves had got in through the kitchen window.

Options :

68634026825. 1
68634026826. 2
68634026827. 3
68634026828. 4



Question Number : 7 Question Id : 6863406781 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correct option to change the following sentence into passive voice:-

It is believed that the thieves got in through the kitchen window.

1. It is believed that the thieves were got in through the kitchen window.

| )

. The thieves are believed to have got in through the kitchen window.
3. The thieves were believed to have got in through the kitchen window:
4. It was believed that the thieves had got i through the kitchen window.

Options :

68634026825. 1
68634026826. 2
68634026827. 3
68634026828. 4

Question Number : 8 Question Id : 6863406782 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A MAVERICK in the publishing world . she blazes her own trail travelling around the world for her book
reading events.

Which of the following words is closest in meaning to the word in capital letters:

1. AMATEUR

| §)

. NON-CONFORMIST
3. CAVALIER
4 PEDANTIC

Options :

68634026829. 1
68634026830. 2
68634026831. 3
68634026832. 4

Question Number : 8 Question Id : 6863406782 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A MAVERICK in the publishing world . she blazes her own trail travelling around the world for her book
reading events.

Which of the following words is closest in meaning to the word in capital letters:

1. AMATEUR
2. NON-CONFORMIST
3. CAVALIER
4. PEDANTIC

Options :

68634026829. 1

68634026830. 2

68634026831. 3
68634026832. 4

Question Number : 9 Question Id : 6863406783 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A container for holding alcoholic drinks, especially wine :-

1. Deja vu

-2

. Dragent

3. Decanter

e

. Drudgery

Options :

68634026833. 1
68634026834. 2
68634026835. 3
68634026836. 4

Question Number : 9 Question Id : 6863406783 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

A container for holding alcoholie drinks, especially wine :-

1. Deja vu

2

. Dragent

aa

. Decanter

4. Drudgery



Options :

68634026833. 1
68634026834. 2
68634026835. 3
68634026836. 4

Question Number : 10 Question Id : 6863406784 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

choose the correctly spelt word from the options given below :-

1. CARICATURE

| S

. CARECACHUR
3. CARRICATURE

4. CARIKATURE

Options :

68634026837. 1
68634026838. 2
68634026839. 3
68634026840. 4

Question Number : 10 Question Id : 6863406784 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

choose the correctly spelt word from the options given below :-

1. CARICATURE

J

. CARECACHUR
3. CARRICATURE

4. CARIKATURE

Options :

68634026837. 1
68634026838. 2
68634026839. 3
68634026840. 4

Question Number : 11 Question Id : 6863406785 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the value of X in the given proportion
H:10=X:15 7

1.20

2

W
3319

4. 18

Options :

68634026841. 1
68634026842. 2
68634026843. 3
68634026844. 4

Question Number : 11 Question Id : 6863406785 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What is the value of X in the given proportion

14:10=X:15 7

1.20

-

2l
3.19

4. 18

Options :

68634026841. 1
68634026842. 2
68634026843. 3
68634026844. 4

Question Number : 12 Question Id : 6863406786 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The speeds of A and B are in the ratio 3:4. A takes 20 minutes more than B to reach the destination . In what
time does A reach the distination?

hours

La | b2

| )

hours

1

0 | B

. 2 hours

[#%]

4. 1— hours

Options :

68634026845. 1
68634026846. 2
68634026847. 3
68634026848. 4

Question Number : 12 Question Id : 6863406786 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The speeds of A and B are in the ratio 3:4. A takes 20 minutes more than B to reach the destination . In what
time does A reach the distination?

1.2 hours

La | b2

[ )

hours

1

L | B

. 2 hours

L)

4. 1= hours

Options :

68634026845. 1
68634026846. 2
68634026847. 3
68634026848. 4

Question Number : 13 Question Id : 6863406787 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The difference between simple interest and compound interest on a certain sum at 5% per anmum for 2 years is
Z25. What 1s the sum invested ?

1. 26.000

| B

28400
3.210.000
4.212.000

Options :

68634026849. 1
68634026850. 2
68634026851. 3
68634026852. 4

Question Number : 13 Question Id : 6863406787 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The difference between simple interest and compound interest on a certain sum at 5% per annum for 2 years ig
Z25. What 1s the sum invested ?

1. 26.000

-

28,400
3.3210.000
4. 212,000

Options :

68634026849. 1
68634026850. 2
68634026851. 3
68634026852. 4

Question Number : 14 Question Id : 6863406788 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A vegetable vendor buys 100kg tomatoes at the rate of Rs18 and spent Rs120 as cartage . He sells 80Kg
tomatoes at Rs25/'kg and 16kg tomatoes at Rs20/kg. Remaining tomatoes got rotten and could not be sold.
Find his profit percentage ( correct to one decimal place )

1.3

L ]

7o
o

[ )

. 17.5%
3.20.8%
4. 21.6%

Options :

68634026853. 1
68634026854. 2
68634026855. 3
68634026856. 4

Question Number : 14 Question Id : 6863406788 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A vegetable vendor buys 100kg tomatoes at the rate of Rs18 and spent Rs120 as cartage . He sells 80Kg
tomatoes at Rs25/'kg and 16kg tomatoes at Rs20/kg. Remaining tomatoes got rotten and could not be sold.
Find his profit percentage ( correct to one decimal place )

i

L]

T
o

| )

. XT75%
3. 20.8%
4. 21.6%

Options :

68634026853. 1
68634026854. 2
68634026855. 3
68634026856. 4

Question Number : 15 Question Id : 6863406789 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A window 1s in the form of a rectangle surmounted by a semicircle. Perimeter of the window 1s 4.6m and

: . , g - 22
height of the rectangular portion 1s 0.5m . then find the radius of the semicircular portion | Take 7 = -‘?--]
\

del

1. 0.6m

()

. 0.8m
3. 1.4m
4. 0.7m

Options :

68634026857. 1
68634026858. 2
68634026859. 3
68634026860. 4

Question Number : 15 Question Id : 6863406789 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

A window 1s in the form of a rectangle surmounted by a semicircle. Perimeter of the window is 4.6m and

; ey . - ; i 23
height of the rectangular portion 1s 0.5m . then find the radius of the semicircular portion | Take 7 = -‘?--]
\

del

1. 0.6m

| )

. 0.8m
3. 1.4m
4. 0.7m

Options :

68634026857. 1
68634026858. 2



68634026859. 3
68634026860. 4

Question Number : 16 Question Id : 6863406790 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

This question consists of a question and two statements .

How is Arelatedto B ?

L. B is the wife of C . B and D are the only children of E. G 1s the only daughter of C. A is the grandaughter of
E,

II. G 1s married to H. B 13 mother-in-law of H. B i1s the only daughter of E and L . A is the grandchild of E.

1. If the data in statement I alone 1s sufficient to answer the question
2. If the data in statement IT alone is sufficient to answer the question
3. If the data either in statement I alone or in statement IT alone 1s sufficient to answer the question
4, If the data even in both statemmnts together are not sufficient to answeer thw question

Options :

68634026861. 1

68634026862. 2

68634026863. 3
68634026864. 4

Question Number : 16 Question Id : 6863406790 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

This question consists of a question and two statements .

How iz Arelatedto B 7

L. B 15 the wife of C . B and D are the only children of E. G 1s the only daughter of C. A 1s the grandaughter of
B,

II. G is married to H. B 1s mother-in-law of H. B is the only daughter of E and L . A is the grandchild of E.

1. If the data in statement I alone is sufficient to answer the question

| ]

. 1f the data in statement II alone is sufficient to answer the question
3. If the data either in statement I alone or in statement II alone 13 sufficient to answer the question
4. If the data even in both statemmnts together are not sufficient to answeer thw question

Options :

68634026861. 1

68634026862. 2
68634026863. 3



68634026864. 4

Question Number : 17 Question Id : 6863406791 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What will be the next term of the given number series:

B2,

h

5,1

[ ]

28,517

1. 80

| )

.9

Options :

68634026865. 1
68634026866. 2
68634026867. 3
68634026868. 4

Question Number : 17 Question Id : 6863406791 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What will be the next term of the given number series:

L2,

8,1

L]

28517

h

1.90

| S}

i |

Options :

68634026865. 1
68634026866. 2
68634026867 3
68634026868. 4

Question Number : 18 Question Id : 6863406792 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A man is facing towards east and turns through 45° clockwise | again 180° clockwise and then turns through
270 anticlockwise. In which direction is he facing now?

1. North-west

[ )

. North-east

. South-west

Lad

4. South-east

Options :

68634026869. 1
68634026870. 2
68634026871. 3
68634026872. 4

Question Number : 18 Question Id : 6863406792 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A man is facing towards east and turns through 45° cloekwise | again 180° clockwise and then turns through
270 anticlockwise. In which direction is he facing now?

1. North-west

b

. North-east

. South-west

Faa

4. South-east

Options :

68634026869. 1
68634026870. 2
68634026871. 3
68634026872. 4

Question Number : 19 Question Id : 6863406793 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out which of these conclusions definitely follows from the given statement
Statement: Mr. Satbir is one of the probable candidates short - listed for the post of director of P.C.M Institute
Coclusion: I Mr. Satbir will be selected as director of P.C.M Institute

II Mr. Satbir will not be selected as director of P.C.M Institute

1. Only conclusion I follows

| B

. Only conclusion II follows

. Either I or II follows

L¥¥]

4. Weither I not II follows
Options :
68634026873. 1
68634026874. 2

68634026875. 3
68634026876. 4

Question Number : 19 Question Id : 6863406793 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Find out which of these conclusions definitely follows from the given statement
Statement: Mr. Satbir is one of the probable candidates short - listed for the post of director of P.C.M Institute
Coclusion: I Mr. Satbir will be selected as director of P.C.M Institute

IT M. Satbir will not be selected as director of P.C.M Institute

1. Only conclusion I follows

| B

. Only conclusion II follows

. Either I or II follows

L¥¥]

4. Weither I not II follows

Options :

68634026873. 1
68634026874. 2
68634026875. 3
68634026876. 4

Question Number : 20 Question Id : 6863406794 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out which of the answer figure(1).(2).(3) ands (4) complete the figure matrix

PROBLEM FIGURE ANSWER FIGURES
- » g
» x x X X X X A
» X, g w b SE
HooK XX
@ w * = = ® x o® o= = o X
- ? 1) @ B @
1.1
2.2
3.3
4.4
Options :

68634026877. 1
68634026878. 2
68634026879. 3
68634026880. 4

Question Number : 20 Question Id : 6863406794 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out which of the answer figure(1).(2).(3) ands (4) complete the figure matrix

PROBLEM FIGURE ANSWER FIGURES
- » g
» x x X X X X A
» X, s w o X
HoOoxK X
w w * E = * ®»ow X oM
’ ? M @ @) @
1.1
2i2
5
4.4
Options :

68634026877. 1
68634026878. 2
68634026879. 3



68634026880. 4

Question Number : 21 Question Id : 6863406795 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

The visible yellow face of sun is called

1. Corona

J

. Tonosphere

L)

. Stratosphere
4. Photosphere

Options :

68634026881. 1
68634026882. 2
68634026883. 3
68634026884. 4

Question Number : 21 Question Id : 6863406795 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

The visible yellow face of sun 1 called

1. Corona

2

. Tonosphere

L]

. Stratosphere
4. Photosphere

Options :

68634026881. 1
68634026882. 2
68634026883. 3
68634026884. 4

Question Number : 22 Question Id : 6863406796 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

NATIONAL PARK STATE
. |Corbett National Park 1. |Gujarat
(Gir National Park II. [Kamataka

Shivpuri National Park | I [Untarakhand
. [Bandhipur National parl] IV. Madhyva pradesh|

o|o|w|e

Choose the correct answer from the options given below:

1. A-III. B-1. C-II. D-IV

| )

. A-IIL B-L, C-IV, D-II
3. A-IIT, B-IV. B-1. D-IT
4. A-IV. B-II. C-1, D-IV

Options :

68634026885. 1
68634026886. 2
68634026887. 3
68634026888. 4

Question Number : 22 Question Id : 6863406796 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

NATIONAL PARK STATE
. [Corbett MNartional Park 1. |Gujarat
Gir National Park II. [Karnataka

Shivpuri Nartonal Park | II1 [Untarakhand
. [Bandhipur National park] IV [Madhva pradesh

o|ofw| -

Choose the correct answer from the options given below:

1. A-III. B-1. C-IL. D-IV

[

. A-IIL B-I, C-IV, D-II
3. A-IIL, B-IV. B-1. D-II
4. A-IV. B-I1, C-1, D-IV

Options :

68634026885. 1
68634026886. 2
68634026887. 3
68634026888. 4

Question Number : 23 Question Id : 6863406797 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Under which article. Parliament has been given powers to amend the constituion ?

1. Article 226

b2

. Article 274
3. Article 368

4. Article 102

Options :

68634026889. 1
68634026890. 2
68634026891. 3
68634026892. 4

Question Number : 23 Question Id : 6863406797 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Under which article. Parliament has been given powers to amend the constituion ?

1. Article 22

b2

. Article 274
3. Article 368

4. Article 102

Options :

68634026889. 1
68634026890. 2
68634026891. 3
68634026892. 4

Question Number : 24 Question Id : 6863406798 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Statement I:
On decreasing the temperature of the metal . its resistance increases.

Statement II: On increasing the temperature of semiconductors, its resistance decreases .

In the light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement I and Statement IT are correct

| S

. Both statement I and statement IT are incorrect
3. Statement I is correct but Statement I 1s incorrect
4. Statement I is incorrect but Statement II is correct
Options :
68634026893. 1
68634026894. 2

68634026895. 3
68634026896. 4

Question Number : 24 Question Id : 6863406798 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Statement [:

On decreasing the temperature of the metal . ifs resistance inereases.

Statement II: On increasing the temperature of semiconductors, its resistance decreases .

In the light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement I and Statement IT are correct

| S

. Both statement I and statement IT are incorrect
3. Statement I is correct but Statement I 1s incorrect

4. Statement I is incorrect but Statement II is correct

Options :

68634026893. 1
68634026894. 2
68634026895. 3
68634026896. 4

Question Number : 25 Question Id : 6863406799 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Which large Harappan site 1s located in Haryana ?

1. Dholavira

J

. Alamgirpur
3. Kalibangan

4. Rakhigarhi

Options :

68634026897. 1
68634026898. 2
68634026899. 3
68634026900. 4

Question Number : 25 Question Id : 6863406799 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which large Harappan site is located in Haryana 7

1. Dholavira

2. Alamgirpur

3. Kalibangan

4. Rakhigarhi

Options :

68634026897. 1
68634026898. 2
68634026899. 3
68634026900. 4

Part B: History

Section Id : 686340136
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340210
Question Shuffling Allowed : Yes

Is Section Default? : null



Question Number : 26 Question Id : 6863406800 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Match List T with List 1T

LISTI LISTII
. |Vedic text 1. [300 BC -AD600
Sangam literature II. |3¢ BC

Prakrit as the Lingua Francg I11. |1300-300 BC
. |5anskrit as state language | IV |AD 4 ¢ onwards

o| o w|=

Choose the correct answer from the options given below:
1. A-IIIL. B-II. C-IV. D-I
2. A-IV. B-II. C-III, D-I
3. AL B-L, C-II. D-IV
4. A-IIL. B-IV. C-1. D-II

Options :

68634026901. 1
68634026902. 2
68634026903. 3
68634026904. 4

Question Number : 26 Question Id : 6863406800 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 1 1 gt 1 4 fHaE sifsu

T I T I
BECAR] 1 30037 - 600 351
G gifed 1L 30034
@erdTa @1 Y18 o ¥4 H Uidhd| 111 1500 500 5.0
RIS Y HIE] & &0 § Sepd | 1V, [d1d] 2rdTec] 3%l 4 I 3]

9 fed i IRl © gel SR &1 9 Bifon

1. A-III B-II C-IV D-1

Oloa|w|»

[ B

. A-IV B-II C-III D-I

L& ]

AT B-I C-II D-IV
4. A-III B-IV C-I1 D11
Options :

68634026901. 1
68634026902 2



68634026903. 3
68634026904. 4

Question Number : 27 Question Id : 6863406801 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Match List I with List 1T

LISTI LISTII
A Panu Smriti I |178%
B. |Abhijnana Shakuntalam| II. |17E5
C. [Bhagvadgita 1. 1776
D. [Early Historv of India | IV |1904

Choose the correct answer from the options given below:

1. A-IIL. B-1. C-IV. D-II

| )

A-IIL B-L, C-IL. D-IV
3. A-IV. B-III. C-1. D-II
4. A-IL. B-III, C-IV. D-I

Options :

68634026905. 1
68634026906. 2
68634026907. 3
68634026908. 4

Question Number : 27 Question Id : 6863406801 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 1 %1 et 1 3 TaE ifn
T 1 A 11
A |[F1Hid 1 |1789
B. [MiHgHRIgdad | IL [1785
C. [Hagiiidl 11 1776
D. |3 et o 2fsay| v [1904
fafaiad faeedl 4 9 Ogt SR &1 994 B -

1. A-III B-I C-IV D-II

| B

AT B-I C-IID-IV
3. A-IV B-III C-1 D-II
4. A-IIB-III C-IV D-I

Options :



68634026905. 1
68634026906. 2
68634026907. 3
68634026908. 4

Question Number : 28 Question Id : 6863406802 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statements are correct.

A. R.G Bhandarkar reconstructed the political history of Satavahanas.

B. V.K Rajwade published twenty-two volumes of sanskrit manuscripts and sources of Maratha history.
C. D.R Bhandarkar was a sanskritist.

D. R.C Majumdar was general editor of 'History and Culture of the Indian People'.

Choose the most appropriate answer from the options given below:
1. A. B and D only
2. A.B and C only
3.B. C and D only

4. A, Cand D only

Options :

68634026909. 1
68634026910. 2
68634026911. 3
68634026912. 4

Question Number : 28 Question Id : 6863406802 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FEfEdd I s oy 9gl &

A, 3R, ST, HISR@R = WIqarel & o @ 506 &1 GrRa= &1 |

B. dl. &. JoIars = S d Uigfafual & 22 @us qur TRI6T Siderd & did Ui fed |
C. 3. AR, YISRSR U oyl U1

D. 3R, Ul HoHER B! UUs He=R 3P & Sisu- tiue & UgE HuEs |

f2 fed T foweal § € 9e IR &1 99 39 |

1. ®dd A. BdUID

b2

PAT A BAYUIC
3, A B. CAUTD

4. Had A, CdUID



Options :

68634026909. 1
68634026910. 2
68634026911. 3
68634026912. 4

Question Number : 29 Question Id : 6863406803 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct statements:

A. Megasthenes wrote Indika.

B. The Periplus of the Erythrean Sea is written in Sanskrit.
C. Naturalis Historia was written in Greek.

D. Geography 1s written in Greek.

Choose the most appropriate answer from the options given below:
1. A and B only
2. B and C only
3. Aand D only

4. C and D only

Options :

68634026913. 1
68634026914. 2
68634026915. 3
68634026916. 4

Question Number : 29 Question Id : 6863406803 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SEE R e

 TRETS A S8 & wRaA |

& RIS 31 & T € g v ¥ fordi 715 8

R feweiiean e Y ol g |

TIRRST Uids U1 ferd g |

= fed e 9ol O waiiue Sugad ST &l 909 31|
1. Had ATUTB

2. PAA B AU C

90wy

3. PATATUID

4. HFACTYUID

Options :

68634026913. 1
68634026914. 2
68634026915. 3
68634026916. 4

Question Number : 30 Question Id : 6863406804 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The monsoon has played an important role in India's history.

Statement IT: The discovery of the monsoon enabled India to carry on trade and establish cultural contacts
with western Asia and Mediterranean area.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement IT are correct.

.

2. Both Statement I and Statement IT are incorrect.

. Statement I is correct but Statement IT is incorrect.

[F¥]

4, Statement I is incorrect but Statement IT is correct.

Options :

68634026917. 1
68634026918. 2
68634026919. 3
68634026920. 4

Question Number : 30 Question Id : 6863406804 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CICRAR: AIC B AR =

YA ; AR - YR Sl # Heayu! YT 3E1 sl gl

FYF 11 : YA &I WIS = YRd &1 AR &3 dy1 uigHl uftrn ud yoe g6 & 9y IR ide g
R B 1 gud §m1

SR B & U & 9 2T T Gl & § 999 SUgad SR & 994 il |

1. By [ AU HYT I ] 9l &

[

HYT 1 YT HYF 11 S Td

Y 1 Hol § IR Py 11 7Ted &

Lad

.Y 1716 © TR HY 11 981 ¢

=y

Options :

68634026917. 1
68634026918. 2
68634026919. 3
68634026920. 4

Question Number : 31 Question Id : 6863406805 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Chaitanya popularised musical gatherings or kirtan as a special form of mystic experience.
Statement II: Chaitanya travelled to Gaya to revive the Krishna cult.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement Il are correct.
2. Both Statement I and Statement IT are incorrect.
3. Statement I is correct but Statement II 1s incorrect.

4, Statement I is incorrect but Statement II is correct.

Options :

68634026921. 1
68634026922 2
68634026923. 3
68634026924. 4

Question Number : 31 Question Id : 6863406805 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



B AT A TR

BYT 1 T YT & U 08 UHR & 30 F I = Siiiaed TarHE) 91 Sio-l & Ui fean
YT I1 : PUYY Sl Yoilidd B & Q18 =g = T | 41 B |

SIRIad B & Y & A9 ST T fddhed] & 4 9o 9aiiu® SUgad SR &1 907 B |

1. Y 1 dYUT HYF 11 a1 981 2

[

HYT 1 YT HYF 11 EH Tad g

Y 1 HEl § IR Py 11 7Ted ©

Lad

.Y 1 7TE © TR HY 11 981 ¢

e

Options :

68634026921. 1
68634026922. 2
68634026923. 3
68634026924. 4

Question Number : 32 Question Id : 6863406806 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List 1T

LISTI LISTII
A [Banabhatta I |Vikramankadevacharita)
B. |[Sandhyakara | II. [Rajatarangini
C. |Bilhana [II. [Harshacharita
D. [Kalhan IV |F.amacharita

Choose the correct answer from the options given below:

1. A-IIL. B-IV. C-II. D-I
2. A-IV. B-IIL, C-I, D-I1
3. A-IL B-1. C-III. D-IV
4. A-IIL B-IV. C-1, D-II

Options :

68634026925. 1

68634026926. 2

68634026927. 3
68634026928. 4

Question Number : 32 Question Id : 6863406806 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :



Correct Marks : 4 Wrong Marks : 1

el 1 1 gt 1 4 fiaE sl
T I T I

7o) YE 1 [AsHimeadid
TP 1. Rrsidfmi

Erl 111 [goaRd
Gl V. RiEEid

A &2 TR faepedl o 9 Wl SR &l 9g BIfo :

1. A-III B-IV C-II D-1

olo]w]>

2. A-IV B-III C-I D-II
3. A-II B-I C-1I1 D-IV
4. A-III B-IV C-ID-II

Options :

68634026925. 1
68634026926. 2
68634026927. 3
68634026928. 4

Question Number : 33 Question Id : 6863406807 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion (A) and the other iz labelled as Reason (R):
Assertion (A): Homo habilis means a handy or skillful man.

Reason (R):This was known so as he had hands.

In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true and R 1s the correct explanation of A.
2. Both A and R are true but R 18 NOT the correct explanation of A.
3. A is true but R 1s false.

4. A 1< false but R 1s true.

Options :

68634026929. 1
68634026930. 2
68634026931. 3
68634026932. 4

Question Number : 33 Question Id : 6863406807 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4 sl By e Tﬂ:{%’ ugd Sfiepya (Assertion - A) FEUHfagag @ MWW (Reason- R)
&3O H:

sfeyT (a) : S Bfafera &1 o B us e o fAgu aafa)

PR (R) : TH ST S ST € Hifer 39F T8y U1

SIRId P! & UHTR 5. 13U 0 fowed] & ¥ et SR &1 954 i |
1. A SR R I 981 € SR R, A B He| A 2|

A SRR EH Ol &, dlFTR. A ! T I 76l ¢ |

A T8I Al R TR 81 81

. AYE! 81 € AP R W1 B

Options :

68634026929. 1
68634026930. 2
68634026931. 3
68634026932. 4

[

Lad

=y

Question Number : 34 Question Id : 6863406808 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 18 labelled as Assertion (A) and the other is labelled as Reason (R) :
Assertion (A): The Upper Paleolithic Age came to an end with the end of ice age.

Reason (R): It was due to global warming.

In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A.
2. Both A and R are true but R is NOT the correct explanation of A.
3. A s true but R 15 false.

4. A 1s false but R 1s true.

Options :

68634026933. 1
68634026934. 2
68634026935. 3
68634026936. 4

Question Number : 34 Question Id : 6863406808 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i &l e ﬁ—f{ Rl e} %’ U AYHUA (Assertion -A) & =g ﬁ%ﬁaﬁ% al FESRY RECACARL (Reason- R) E7
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BRI (R) : U Tdlad e & BRI g3 |

SURIE P! & HHTR1 1, 19 AU U fowed! o ¥ Tet SR &1 99 Sy |
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Options :

68634026933. 1
68634026934. 2
68634026935. 3
68634026936. 4
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Question Number : 35 Question Id : 6863406809 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

Which of the following was an early capital of Harshavardhana?

1. Thaneshwar

J

. Kannauj
3. Prayag
4. Mathura

Options :

68634026937. 1
68634026938. 2
68634026939. 3
68634026940. 4

Question Number : 35 Question Id : 6863406809 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



faafeiea § O o svads # urRfE et 4t o
1. YR
2. FH

3. W4T

)

4. YT
Options :

68634026937. 1
68634026938. 2

68634026939. 3
68634026940. 4

Question Number : 36 Question Id : 6863406810 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which inseription highlights that the Nandas exercised power over Kalinga?

1. Aihole Inscription
2. Ajanta Inseription
3. Mathura Inscription
4. Hathigumpha Inscription

Options :

68634026941. 1

68634026942. 2

68634026943. 3
68634026944. 4

Question Number : 36 Question Id : 6863406810 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
B 1 SHiieRE 8 UR UL ST § [ =2 e SIfehT R PR wad U 2
. Ugld 3ifteig
2. HSidl AU
3. YT TR
4. B1Y1 THBT HfderE

ik

)

Options :



68634026941. 1
68634026942. 2
68634026943. 3
68634026944. 4

Question Number : 37 Question Id : 6863406811 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following was a 'complex’ hunting Society?

1. Mesolithic Age

J

. Paleolithic Age
3. Neolithic Age

4. Chalcolithic Age

Options :

68634026945. 1
68634026946. 2
68634026947. 3
68634026948. 4

Question Number : 37 Question Id : 6863406811 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafga 4 9 B 9 (P Sica RIeR! qars o1 2

TS0 g7

. TS g7

. STaUTNTO g

iR

[ ]

L¥]

4. HGTSIO] Tl

Options :

68634026945. 1
68634026946. 2
68634026947. 3
68634026948. 4

Question Number : 38 Question Id : 6863406812 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The transition from neolithic age to bronze age civilization first took place in :

1. Mesopotamia
2. Egypt

3. Greece

4. Rome

Options :

68634026949. 1
68634026950. 2
68634026951. 3
68634026952. 4

Question Number : 38 Question Id : 6863406812 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT QAT H B I Fer H HhHu ad Ugd T g3
1. TIgreTEET
2. g sl
3. g ()
4,39

Options :

68634026949. 1
68634026950. 2
68634026951. 3
68634026952. 4

Question Number : 39 Question Id : 6863406813 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Kutumbin was equivalent to:
1. Sabha
2. Vaisya
3. Gahapati

4. Arya

Options :
68634026953. 1



68634026954. 2
68634026955. 3
68634026956. 4

Question Number : 39 Question Id : 6863406813 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PfTa HS THDE UT:

1. HHT
2.9
3.7TgHY d
4. 3
Options :
68634026953. 1
68634026954. 2

68634026955. 3
68634026956. 4

Question Number : 40 Question Id : 6863406814 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Buddhist text indicates that lands were being granted to brahman doniess by king. What were these lands
called 7

1. Sasan

| ]

. Brahmadeya

L¥¥]

. Gama
4. Vanipathas

Options :

68634026957. 1
68634026958. 2
68634026959. 3
68634026960. 4

Question Number : 40 Question Id : 6863406814 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TG T SHTd B § 19 o1 g1 S0l &1 Y-SiaH 160 od & | 59 Yl &1 91 SgT oirar o1 2
1. 9
. SIEIed

3. 311HT

4. giomay

Options :

68634026957. 1
68634026958. 2
68634026959. 3
68634026960. 4

[ ]

Question Number : 41 Question Id : 6863406815 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most influential doctrine of 6™ century B.C. was :

1. Ajivikas
2. Niyati
3. Sarmana
4. Sangha

Options :

68634026961. 1

68634026962. 2

68634026963. 3
68634026964. 4

Question Number : 41 Question Id : 6863406815 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
6dl TaTsE] SHIYd BT TS THTTTA! G ol -
1. 3AToig®
2. [t
3. JHT
4,99

Options :



68634026961. 1
68634026962. 2
68634026963. 3
68634026964. 4

Question Number : 42 Question Id : 6863406816 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The earliest source dealing exclusively with astronomy is :

1. Nakshatras

J

. Kevaddha Sutta

LN}

. Digha Nikaya
4. Jyotisha Vedanga

Options :

68634026965. 1
68634026966. 2
68634026967 3
68634026968. 4

Question Number : 42 Question Id : 6863406816 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pad wIfdy & IR T (g9 39 I qui9 S arer a4 Y dia g -

1. &4

| ]

. Ay g
3. 81y [o™
4. SOy agi

Options :

68634026965. 1
68634026966. 2
68634026967 3
68634026968. 4

Question Number : 43 Question Id : 6863406817 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who among the following was a Chauhan ruler to patronize poets and scholars. built many magnificent
temples. including a Sanskyit college at Ajmer and the Anasagar Lake?

1. Prithviraj IIT

2. Jai Chand

Lad

. Vigrahraja
4. Prithviray II
Options :
68634026969. 1
68634026970. 2

68634026971. 3
68634026972. 4

Question Number : 43 Question Id : 6863406817 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrfafEa & 9 g dem I $19 o e ool aun fagat & wRem fan, semR & ue I
TEIaelerd duUT HHMEFR S Ud 3! e Hie §-1amd?

1. QERTSI-I1I
2. Sdg

3. faugars

4. QARSI

Options :

68634026969. 1
68634026970. 2
68634026971. 3
68634026972. 4

Question Number : 44 Question Id : 6863406818 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What was sondhar?

—

. Gateway

| S]

. Agricultural loans
3. Uncultivable land

4. Punishment



Options :

68634026973. 1
68634026974. 2
68634026975. 3
68634026976. 4

Question Number : 44 Question Id : 6863406818 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR &1 U1 2
1. &dldl
2. Py B
3. TR JUaIS; o=
4. 508

Options :

68634026973. 1
68634026974. 2
68634026975. 3
68634026976. 4

Question Number : 45 Question Id : 6863406819 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Who sent Kashmir shawl as a present to the Chinese emperor?

1. Alauddin Khilji

-

2. Muhammad Tughlaq
3. Firuz Shah Tughlaq

4. Balban

Options :

68634026977. 1
68634026978. 2
68634026979. 3
68634026980. 4

Question Number : 45 Question Id : 6863406819 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



oo di-t 9HIe & HIER] e U He W&y fyadamm 2
1. 3ET3e 1 Raerall
2. qEHIE QI

]

3. IIsiRlle dilcld

4. dd

Options :

68634026977. 1
68634026978. 2
68634026979. 3
68634026980. 4

Question Number : 46 Question Id : 6863406820 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Identity the correct statements:

A. Balban ascended the throne in 1266.

B. Balban was sold as a slave in Turkistan.
C. Balban was bought by Iltutamish in Delhi.
D. Balban was a Chihalgani Turk.

Choose the most appropriate answer from the options given below:

1. A. B and D only

J

.B. Cand D only
3.A.Cand D only

4. A. B and C only

Options :

68634026981. 1
68634026982. 2
68634026983. 3
68634026984. 4

Question Number : 46 Question Id : 6863406820 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



el Y| BT I8 Bl

A. Sed 1266 H UGS g3

B. §o1& Qe H U@ aTH & &9 1 997 o7 |
C. Seia- B Segaiy A fel 1 wliaT
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1. Pad A, BAUID

2. $ad B, CAUID
3. FAA A, CTUID

4. HAAA BAYUIC

Options :

68634026981. 1
68634026982. 2
68634026983. 3
68634026984. 4

Question Number : 47 Question Id : 6863406821 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identity the correct statements:

A. Ajmer was captured in 1191,

B. Ajmer was occupied after defeating Hari Raj.
C. Govind was son of Prithviraj.

D. Hari Raj was brother of Prithviraj.

Choose the most appropriate answer from the options given below:

1. B, C and D only

2

.A. B and D only
3.A.Cand D only
4. A, B and C only

Options :

68634026985. 1
68634026986. 2
68634026987. 3
68634026988. 4

Question Number : 47 Question Id : 6863406821 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

el HY| BT I8 HIIC:

A. HER WX 1191 H SHfUPR gl

B. RIS &1 g 3 W 3SR f&a1 7|
C. a2 QRIS &1 9 Ul
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| B

PAAA, CTUID

Lad

4. BAAA BAYUIC

Options :

68634026985. 1
68634026986. 2
68634026987. 3
68634026988. 4

Question Number : 48 Question Id : 6863406822 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
Correct Marks : 4 Wrong Marks : 1

The real greatness of the Chola empire started with accession of :

1. Uttama Chola

2

Arumoelivarman
3. Sundara
4. Arinjaya

Options :

68634026989. 1
68634026990. 2
68634026991. 3
68634026992. 4

Question Number : 48 Question Id : 6863406822 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[epreh XA & WY 9 99T &1 aRaia® HeHdl &1 TH31d 55 2
1, S =
2. Srgifera

3.
4. AR

Options :

68634026989. 1
68634026990. 2
68634026991. 3
68634026992. 4

Question Number : 49 Question Id : 6863406823 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who administered the Vijayanagar empire on basis of Kakatiya model.

1. Brahmins

J

. Bahmanis
3. Harihara I
4. Rajraj I
Options :
68634026993. 1
68634026994. 2

68634026995. 3
68634026996. 4

Question Number : 49 Question Id : 6863406823 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
feb g TaST-TR 9T9Teg 1 YR BIhiddl WY o YR U 9] ?
1. slle T
2. ST
3. BRE

4, AT -1

Options :
68634026993. 1



68634026994. 2
68634026995. 3
68634026996. 4

Question Number : 50 Question Id : 6863406824 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In Deccan, the Mauryan empire was followed by the rule of:
1. Reddis
2. Sakas
3. Pallavas

4. Satavahanas

Options :

68634026997. 1
68634026998. 2
68634026999. 3
68634027000. 4

Question Number : 50 Question Id : 6863406824 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U1 A9y & 915, a0 1 [a-eT Iy RAIUd g ?

1.3l

2. 9%

3. gd
4. QIATE

Options :

68634026997. 1
68634026998. 2
68634026999. 3
68634027000. 4

Question Number : 51 Question Id : 6863406825 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Bharavi's Kiratarjuniyvam describes the conflict between Siva and Arjuna in:

1. eighteen cantons

-2

. twenty cantons

Lad

. sixty cantons
4. twenty one cantons

Options :

68634027001. 1
68634027002. 2
68634027003. 3
68634027004. 4

Question Number : 51 Question Id : 6863406825 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YRdt & Tareaami-ae 7 fa aur sefH F ged sravfA gan g -

1.18algl &

20%RTH
3.60361H
4.21561 0

Options :

68634027001 1

68634027002. 2

68634027003. 3
68634027004. 4

| ]

Question Number : 52 Question Id : 6863406826 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion (A) and the other is labelled as Reason (R):
Assertion (A): During Delhi Sultanate the task of transporting food grains from the countryside was generally
carried out by Karwaniyas.

Reason (R): It was to fill up the royal stores.

In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A.

| §)

. Both A and R are true but R is NOT the correct explanation of A.
3. Ais true but R is false.

4. A is false but R 1s true.

Options :

68634027005. 1
68634027006. 2
68634027007. 3
68634027008. 4

Question Number : 52 Question Id : 6863406826 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
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Options :

68634027005. 1
68634027006. 2
68634027007. 3
68634027008. 4
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Question Number : 53 Question Id : 6863406827 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following events in chronological order:

A. Anglo-Sikh wars

B. First Afghan war

C. Introduction to Railways in India
D. Santhal rebellion

E. Annexation of Awadh

Choose the correct answer from the options given below:
1.AB.C,DandE
2.B.A.C.Dand E
3.B.C.A,EandD
4. A.C.D.Band E

Options :

68634027009. 1
68634027010. 2
68634027011. 3
68634027012. 4

Question Number : 53 Question Id : 6863406827 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafad gersil o1 STapHraR ayd SIfe :

A. 3R gg

B. UYH JBIH S
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1.A.B.C.DTUTE
2.B.A.C.DTUTE
3.B.C.A.ETYUID
4. A C.D.BTUTE

Options :

68634027009. 1

68634027010. 2

68634027011. 3
68634027012. 4



Question Number : 54 Question Id : 6863406828 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Arrange the following in the correct chronological order:
A. Homer's Iliad and Odyssey
B. Suttanipatta
C. The Rig Veda
D. The Brahmanas
E. Indika
Choose the correct answer from the options given below:
1.C.D.A.Eand B
2.D.AE. Band C
3.C,A.D.Eand B
4.A C.E,BandD

Options :

68634027013. 1
68634027014. 2
68634027015. 3
68634027016. 4

Question Number : 54 Question Id : 6863406828 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e & Wel S aaR safeyd o :
A. B & giorgs Ug ifsdl
B. T
C.Hidg
D. SR
e
ffafed fdeedl & 4 Uet SR &1 99 $ifot |
1.C.D.A.ETYIB
2.D.A.E.BTQYIC
3.C,A.D,ETUIB
4 A.C.E.BTYUID
Options :

68634027013. 1
68634027014. 2



68634027015. 3
68634027016. 4

Question Number : 55 Question Id : 6863406829 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Agricultural conditions in the Gangetic basin were vastly different from those of the Indus
culture.

Statement IT: Canals and dykes were of great significance in Gangetic basin.

In the light of the above statements, choose the correct answer from the options given below.

1. Both Statement I and Statement IT are true

[ ]

. Both Statement I and Statement IT are false
3. Statement I is true but Statement IT is false

4. Statement I is false but Statement IT is true
Options :
68634027017. 1
68634027018. 2

68634027019. 3
68634027020. 4

Question Number : 55 Question Id : 6863406829 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
4 g1 Py Gy U &
SYA 1 T S O Y 31 Ul fawy s ot Sy fufa § e o9 9 fig o)
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Options :

68634027017. 1
68634027018. 2
68634027019. 3
68634027020. 4



Question Number : 56 Question Id : 6863406830 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Brahmadayas and temples were unportant players in the restructuring of the economy during the
Chola period.

Statement IT: It was result of their administrative and functional control over productivity.

In the light of the above statements, choose the correct answer from the options given below.

1. Both Statement I and Statement II are true.

2

. Both Statement I and Statement IT are false.
3. Statement I is true but Statement IT is false.

4. Statement I is false but Statement IT is true.

Options :

68634027021. 1
68634027022. 2
68634027023. 3
68634027024. 4

Question Number : 56 Question Id : 6863406830 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B AT A TR

SYT 1 9 Z1 H siforaRn Bt a1 § Fey aul Hiek TEaU R ¥ |

Y 11 : U8 IAeHd] IR IP URIHS dUl TP (functional) FHT-a07 &1 glRomyg o7 |
SRS B! & YT 1, 14 G T fawed! § § Ogt S B 99 DI |

1. Y 1 dYUT HYF 11 a1 981 2

[

HYT 1 TYT HYF 11 EF Tad &

Lad

Y 1 HEl § IR Py 11 7Ted ©

e

.Y 1 7TE © TR HY 11 981 ¢

Options :

68634027021. 1
68634027022. 2
68634027023. 3
68634027024. 4

Question Number : 57 Question Id : 6863406831 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 1T

LISTI LISTII
A |[Rupiva 1. |Gold coin
B. [Dam II. [Silver coin
C. |Asharfi [IT. [Half dam
D. |Adhela IV |Copper coin

Choose the correct answer from the options given below:

1. A-IL. B-1. C-III. D-IV
2. A-IL B-IV. C-I1. D-III
3. A-IIL, B-IV. C-1. D-IT
4. A-IL. B-III, C-IV. D-I

Options :

68634027025. 1

68634027026. 2

68634027027. 3
68634027028. 4

Question Number : 57 Question Id : 6863406831 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 %1 e 1 3 TaE $ifm
A 1 T
A B 1. [&av] g
B [gH 1. [Tret Tt
C. |aEst 101 [37em &
D. [are@m 1V, [d1aT Ha@]

4 o8 ma ol © O I8t S9R &1 90 Sife -

1. A-II, B, C-II, DIV
2. A-IL B-IV. C-I. D-III
3, A-IIL, B-IV, C-1, D-II
4. A-IL, B-IIL, C-IV. DI

Options :

68634027025. 1

68634027026. 2

68634027027. 3
68634027028. 4



Question Number : 58 Question Id : 6863406832 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List TT

LISTI LISTII
A |Abdullah 1. |Tarikh- 1 Firuz Shahi
B. [Badauni II. |Tarikh- 1 Daudi
C. |Barani [I. Pvluntakhab al- Tawarikh|
D. |54z1 IV [Fuwaid al-Fu'ad

Choose the correct answer from the options given below:

1. A-IL. B-II1, C-1. D-IV

[

CA-IL B-1II. C-1II. D-IV
3. A-IIL, B-I1, C-IV. D-1
4. A-II. B-1. C-IIIL, D-IV

Options :

68634027029. 1
68634027030. 2
68634027031. 3
68634027032. 4

Question Number : 58 Question Id : 6863406832 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

gt 1 51 & 1 3 faH Sife
T 1 T I
A. [orsgen 1 [aRRg-u fhIeEre]
B [gargHl 1. [dRRG-U-G%Hal
C. [@%1 I11. [A<ETE- 3wl
D. [l IV [Falg Jd-dlg
Frafafad 9@l § T 98l SR &1 907 $Ifog .

1. A-II B-III C-I D-IV

| B

. A-1 B-II C-III D-IV
3. A-III B-II C-IV D-1
4. A-II B-1 C-III D-IV

Options :

68634027029. 1

68634027030. 2
68634027031. 3



68634027032. 4

Question Number : 59 Question Id : 6863406833 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Maddad- 1 ma'ash stands for:
1. Inheritance
2. Revenue
3. Aid for subsistence
4. Petty burdens
Options :
68634027033. 1
68634027034. 2

68634027035. 3
68634027036. 4

Question Number : 59 Question Id : 6863406833 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
- AT &1 31 § :
1. TTRIYBR

[ )

L

3. Siig=amae & ford g
4. BIC Eﬂﬂ {Petty burdens)

Options :

68634027033. 1
68634027034. 2
68634027035. 3
68634027036. 4

Question Number : 60 Question Id : 6863406834 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who 15 the anthor of 'Tndia wins Freedom'?

1. Maulana Azad

-

2. Jawahar lal Nehm
3. V.D. Savarkar
4. V.P. Menon

Options :

68634027037. 1
68634027038. 2
68634027039. 3
68634027040. 4

Question Number : 60 Question Id : 6863406834 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SiSu i sy & oE® HH§ 2
1. f! oMl STl

2. viglex oic] e

3. dl. SI. YIaRdR
4.8 Ot B

Options :

68634027037. 1
68634027038. 2
68634027039. 3
68634027040. 4

Question Number : 61 Question Id : 6863406835 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion (A) and the other is labelled as Reason (R):
Assertion (A): Territories held on the same basis as jagir. but not agamst any rank or without any obligation
were known as Inam.

Reason (R): The revenue of these was reversed for the imperial treasury.

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both A and R are correct and R 1s the correct explanation of A.

| §)

. Both A and R are correct and R 13 NOT the correct explanation of A,
3. A is correct but R is not correct.

4. A 1s not correct but R is correct.

Options :

68634027041. 1
68634027042. 2
68634027043. 3
68634027044. 4

Question Number : 61 Question Id : 6863406835 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

- g1 U U U §: UP SHUDUA (Assertion- A) P U T fAfad § ol GO 39D HRUI (Reason -R) &
PSR

firmyT (A) RS sRI R g fedi o frf oo s M ea e 3= 39m &
JU T ST S o
BRI (R) : 511 oI el DY & Tord & Uil

SWRIad Pl & Y 8, -4 3 Y fdeedi § 3 waifie Suged SR &1 904 Sifeu)
A TUIR 1§61 § GUTR. A 1 U5 SR B

. ATYIR 3] el €, 9 R. A 31 9! WA 781 B

3. AHgI g T R We1 eI §1

4. ATE T AFTR T B

Options :

68634027041. 1
68634027042. 2
68634027043. 3
68634027044. 4

[

2

Question Number : 62 Question Id : 6863406836 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



After which battle, the pattern of the company's commereial relations with India underwent a qualitative
change?

1. Anglo- Maysor war -

[ ]

. Battle of Buxar

Lad

. Battle of Ramgarh
4. Battle of Plassey

Options :

68634027045. 1
68634027046. 2
68634027047. 3
68634027048. 4

Question Number : 62 Question Id : 6863406836 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[org g & 918 SUHI & YRd & 91U SAIHIie® Hael § s19e 0ed uiad= ST 2
AR g% -1

2 SRR YG

—

o

3. TS BT g
4. @R BT g%

Options :

68634027045. 1
68634027046. 2
68634027047. 3
68634027048. 4

Question Number : 63 Question Id : 6863406837 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Religious reforms begun in Bombay in 1840 by:

1. Brahmo Samaj

b2

. Parmahans Mandali
3. Prarthana Samaj
4. Arya Samaj

Options :



68634027049. 1
68634027050. 2
68634027051. 3
68634027052. 4

Question Number : 63 Question Id : 6863406837 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1840 & &= H giag, 1 g Yiite GuR Yo gk

1. sigd JHIS
2. IRAGE HsTl
3. TN AT
4. 317 GHTS

Options :

68634027049. 1

68634027050. 2

68634027051. 3
68634027052. 4

Question Number : 64 Question Id : 6863406838 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which act established limited self government m Bengal, Madras and Bombay?

1. Act of 1892

]

2. Indian Councils Act (1861)
3. Local Self Government Act (1882)

4. Tlbert Bill (1883)

Options :

68634027053. 1
68634027054. 2
68634027055. 3
68634027056. 4

Question Number : 64 Question Id : 6863406838 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



forer Sffifam = e, T qul gtas O Siid R R &1 YA P12
1. 1892 BT 3ffe-aH

2. Sfe0H H13feg tae. 1861
3. @i d Yo TTg-4c U, 1882
4. Soac fod. 1883

Options :

68634027053. 1
68634027054. 2
68634027055. 3
68634027056. 4

Question Number : 65 Question Id : 6863406839 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

All the radical development on the peasant front culminated in the formation of :

1. Utkal Kisan Sangha at Orissa

b2

. Congress Socialist Party at Caleutta
3. Provincial Kisan Sabha at Bombay

4. All India Kisan Sabha at Lucknow

Options :

68634027057. 1
68634027058. 2
68634027059. 3
68634027060. 4

Question Number : 65 Question Id : 6863406839 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fepI1 A9 TR U el {9 TaehH! 1 9IRUmE $3e] RIM0-1 4T -
1. FoIEI H I I JHT
 Pasdl T By grfeee urel
 §Hg § Uichy far au

4, @ET3 H e yrdi [eam gy

| B

L&)

Options :
68634027057. 1



68634027058. 2
68634027059. 3
68634027060. 4

Question Number : 66 Question Id : 6863406840 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following are correct:

A. The dry zone of the Central Peninsula was homelands of Hoysalas. Kakatiyas and later Vijayanagar.

B.In 13t century with Hoysalas and Kakativas, a more war like age was at hand for peninsular socicties.
C. Vijayanagar was a mixed rural economy of peasants. herdsmen. and forest people.

D. The homelands of Hoysalas, Kakatiyas and Vijayanagara was dependent on tank 1rrigation.

E. High level multi crop production was speciality of Central Peninsula.

Choose the correct answer from the options given below:
1.LA.C.Band E
22 A DandE
3JAB.CandD

4 A B.C.DandE

Options :

68634027061. 1
68634027062. 2
68634027063. 3
68634027064. 4

Question Number : 66 Question Id : 6863406840 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafafag DU SH I UE & :

A. BT UG D] YD &4, SIIYd. BIoliagl aul 916 § IS8R &1 TE&4H (homelands) UT|
B. Ugd1g FHT & ford) 1341 wrarsdl # g1agel aul SIepiiadl & SRUT dikdarul ZgHd Ul
C. [OSOTR THTY, YS!, TRale! a4 a0 cfdadl o1 HiHd arHior srefoawyr of|

D. TIIHT, FHIPIaa1 aU [dSTTR &1 Je& die (91 (tank irigation) TR [HHR 2T |

E. 3= 901 9B HCT S5 =g Hhgd &I fg=ieer Ui

A= &8 U ool § Ogl 9% & 994 S|

1LLA.C.BOYIE

2.A.DTYUTE

L]

AB,CAUID

4. A B.C.DUYUIE

Options :

68634027061. 1
68634027062. 2
68634027063. 3
68634027064. 4

Question Number : 67 Question Id : 6863406841 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Dayanand Saraswati authored :

1. Bakhar

]

. Satyartha Prakash

%]

. Rangbhumi
4. Swaraj

Options :

68634027065. 1
68634027066. 2
68634027067. 3
68634027068. 4

Question Number : 67 Question Id : 6863406841 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g Il - fordr
1. §E%
2, ey

3. Ty
4. RS

Options :

68634027065. 1
68634027066. 2
68634027067. 3
68634027068. 4

Question Number : 68 Question Id : 6863406842 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who started journal 'Kesari' along with Tilak?

1. G.V. Joshi

| ]

. Jyotiba Phule
3. G.G. Agarkar

4, R.C. Dutt

Options :

68634027069. 1
68634027070. 2
68634027071. 3
68634027072. 4

Question Number : 68 Question Id : 6863406842 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fererer & A1y fiae SRl AT fea o &t 2
1. Sff, gt St
2. Hifder o
3. Sfl. Sff. 3FR®R

4. ¥R, 9. 89

Options :
68634027069. 1



68634027070. 2
68634027071. 3
68634027072. 4

Question Number : 69 Question Id : 6863406843 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statements are wrong:

A, Puppetry is identified as Kathputli,

B. Puppets are made out of wood and glass.

C. The court puppeteers claimed that their puppets had Life.

D. The art of Puppetry originated in Rajasthan.

E. In Marionette tradition. the puppets are manipulated by strings and wood.

Choose the correct answer from the options given below:

1.B.Cand E

| B

A BandE
33ABandC
4 B.Dand E

Options :

68634027073. 1
68634027074. 2
68634027075. 3
68634027076. 4

Question Number : 69 Question Id : 6863406843 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e o 9 & H 8 Y T § -

A. UUTH Pl HaYaa! & 9  FHI O ¢

B. PaYqd| &l ad ol aul YUK & 9 A g |

C. SXERI ayddiiars ardl eid U fb 3l doydieral duilg df|

D. TeYdd! Hal &1 IB3HTd eI & T3

E. TRI3{I€ (Marionette) TRERT H SaUdad| P 4T qUl d@e! § ITed (a1 Aar g |

f=fafad ool § O adt SR &1 99 Sife|

1.B.CdUlE

2.A.BTUYIE

Lad

CABAYIC

4. B.DAYUIE

Options :

68634027073. 1
68634027074. 2
68634027075. 3
68634027076. 4

Question Number : 70 Question Id : 6863406844 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Given are the two statements:

Statement I: After death of Burhan Nizam Shah of Ahmednagar. Chand Bibi formed the third faction.
Statement II: Chand Bibi was contemporary of Shahjahan.

In the light of the above statements. choose the most appropriate answer from the options given below.

1. Both Statement I and Statement II are correct.

| )

. Both Statement I and Statement IT are incorrect.
3. Statement I is correct but Statement IT 1s incorrect.

4. Statement I is incorrect but Statement IT is correct.

Options :

68634027077. 1
68634027078. 2
68634027079. 3
68634027080. 4

Question Number : 70 Question Id : 6863406844 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A ar sy fler T &
Y1 : HEHGTR P GIEH o0 W16 B g & 915 =ig diai = TRl e S|

BYF 1 : T silsll LMeoTe] Bl FHDIC Ui
SIRIad B & YT A 19 ST T fdded] & § Taifie Suyad SR &1 997 11U |

1. Y 1 dYUT HYF 11 a1 981 T

[

HYT 1 YT HYF 11 SH Td

YA 1 HE! € U PY I TTed & |

Lad

.Y 1716 © IR Y 11 Hel ©

e

Options :

68634027077. 1
68634027078. 2
68634027079. 3
68634027080. 4

Question Number : 71 Question Id : 6863406845 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the correct statements:

A. In 1605, Sikhs were not living in many cities of the Mughal Empire.

B. Accredited Representatives were known as Masands.

C. Masands brought their offerings to Ramdaspur at least once a year.

D. Only members of trading communities of merchants were included amongst of the Sikhs.
E. Angad was nominated as Guru in the lifetime of Guru Nanak.

Choose the correct answer from the options given below:

1.A.B and E only

| o]

.C.Eand D only
3.B.D and E only
4. B. C and E only

Options :

68634027081. 1
68634027082. 2
68634027083. 3
68634027084. 4

Question Number : 71 Question Id : 6863406845 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

el T BT UgTH DI

A. 1605 T g, T7Te 9HTo9 & 95d 91 W63l § ol %6 <6 U

B. YA (Accredited) U8 B9-¢ Hgdrd Ul

C. HHE UIe § & U &8 U dR IHGHYR H He dd 3i1d 4|

D. Padl UIRA! o syl 91 il 4 it fod 7 4

E. % S & Wilg- ®Id H T 37E &I T & 39 H i foar 7|

fefafad foedl § O |t S &1 99 Sifeu|

1. A. BOYUTE Had

| )

.C.EQYI D %ad

.B.D dYUTE ®ad

Lad

4.B. C dYTE ad

Options :

68634027081. 1
68634027082. 2
68634027083. 3
68634027084. 4

Question Number : 72 Question Id : 6863406846 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Who was the first Indian to be elected to the leadership of the Communist International?

1. 5.A Dange

J

. M.N. Roy
3. Subhash Chandra Bose
4. Lala Lajpat Rai

Options :

68634027085. 1
68634027086. 2
68634027087. 3
68634027088. 4

Question Number : 72 Question Id : 6863406846 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



feo T Uy YR 1 ST Se39Hd & Add & o g mn 2
1.TH. T 8l
2. UH.TH.3™
3. YIS a9

4. Il ersiud 1"

Options :

68634027085. 1
68634027086. 2
68634027087. 3
68634027088. 4

Question Number : 73 Question Id : 6863406847 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who started the Ryotwari experiment in Bara Mahal?

1. Lord Wellesley

| S]

. Thomas Muntro
3. Lord Cornwallis
4. Alexander Reed

Options :

68634027089. 1

68634027090. 2

68634027091. 3
68634027092. 4

Question Number : 73 Question Id : 6863406847 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IRITEd I Wdars! A &1 Yesild e 31 2
1. €S deiedl
ATIE gRI
3. 9IS BI-aned
IR N ERTRIE]

Options :
68634027089. 1

| ]



68634027090. 2
68634027091. 3
68634027092. 4

Question Number : 74 Question Id : 6863406848 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When was Women's Indian Association started?

1. 1925

| S

1927
3.1017

4. 1910

Options :

68634027093. 1
68634027094. 2
68634027095. 3
68634027096. 4

Question Number : 74 Question Id : 6863406848 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 51597 UHIRIUR &1 L3341 &6 55 2

1.1925

|

: 1927
3. 1917

4.1910

Options :

68634027093. 1
68634027094. 2
68634027095. 3
68634027096. 4

Question Number : 75 Question Id : 6863406849 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who formed All India Depressed Classes Congress?

1. Dr. B.R. Ambedkar

| S]

. M.C. Rajah
3. E.V. Ramasvwami Naicker

4. Mahatma Gandhi

Options :

68634027097. 1
68634027098. 2
68634027099. 3
68634027100. 4

Question Number : 75 Question Id : 6863406849 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TS SFSTT FSTEs TS SiUE 3 W g & 2

1. 81 ol 3R, TSP
2. TH. 1 I7eT
3. T, Ot THEEE AHR
4. HETT el

Options :

68634027097. 1

68634027098. 2

68634027099. 3
68634027100. 4

Question Number : 76 Question Id : 6863406850 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one 18 labelled as Assertion (A) and the other 1s labelled as Reason (R):
Assertion (A): Telugu didactic poem. Amuktamalyada was composed by Krishnadevraya.
Reason (R): It was composed to attribute importance to the foreign trade.
In the light of the above statements. choose the most appropriate answer from the options given below.
1. Both A and R are correct and R 1s the correct explanation of A.
2. Both A and R are correct and R is NOT the correct explanation of A,

3. A 1=z correct but R 15 not correct.

4. A 1s not correct but R 1s correct.



Options :

68634027101. 1
68634027102. 2
68634027103. 3
68634027104. 4

Question Number : 76 Question Id : 6863406850 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- g P 13U U & UD SHHUT (Assertion -A) P U T R4 § f §IRT 3Ud HRUI (Reason- R) &
oY H:

HTUBY (A) : T SUCRTED Bl SHFTHIIE] B d- FUGARY F Bl |

PR (R) : SUS] I9-1 [dSX AR F1 Jed o3+ & o & 15 |

SURIad ] o YT 4. 1= (56U U fasedl & 4 walfire Iuged S &1 994 11U
1. ATYT R SM1 961 § QYT R, A D! T&| AR &

 ATYTR &FI 961 8. Wi R, A BT el oare 7 ¢

A 9gl g dfch R WS el o

ATEI el & UHT R T &

Options :

68634027101. 1
68634027102. 2
68634027103. 3
68634027104. 4

[ )

[F¥]

e

Question Number : 77 Question Id : 6863406851 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion (A) and the other is labelled as Reason (R):
Assertion (A): The Indian Arimy was carefully reorganised after 1858 to prevent the recurrence of another
revolt.

Reason (R): It was to minimise the capacity of Indian soldiers to revolt.

In the light of the above statements. choose the most appropriate answer from the options given below

1. Both A and R are correct and R 1s the correct explanation of A.

| §)

. Both A and R are correct and but R 15 NOT the correct explanation of A.

. A 1z correct but R 1s not correct.

%]

4. A is not correct but R is correct.

Options :
68634027105. 1



68634027106. 2
68634027107. 3
68634027108. 4

Question Number : 77 Question Id : 6863406851 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=g &l P ﬁ‘[{ Tﬂ:{%’ U SbieAIE] (Assertion -A) & =0 ¥ farad % ar qHAl IYH HRU (Reason -R) El
IO

SHTUTYT (A) : 1858 T YR 1 H1 QaUHIYdd A& (a1 T/ difds &=7 [l fagig &1 gl 9 Al
o 4 |

BRI (R) : T8 YR A1 S [958 B3 1 &1d &1 gAad B & (od g 14|
SWRIFd B! & Tbr 8. A g 7 fawedi § 9 walfie sugea 3wk @ 997 S
 ATYUTR SHI 961 8 GUTR, A S &I AR5 |

. ATYTR &H1 98] €. i R, A BT el oare 78 ¢

A ¥El g dfhT R 9S8l o

4. A S 81 € A R W1 B

Options :

68634027105. 1
68634027106. 2
68634027107. 3
68634027108. 4

—

[ )

[F¥]

Question Number : 78 Question Id : 6863406852 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 18 labelled as Assertion (A) and the other is labelled as Reason (R) :
Assertion (A): The Theosophical Society advocated revival of ancient religions.

Reason (R): Because Madam H.P. Blavatsky came to India.

In the light of the above statements. choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A.

| B

. Both A and R are true but R is NOT the correct explanation of A.
3. A1z true but R 15 false.

4. A 1s false but R 1s true.

Options :

68634027109. 1
68634027110. 2
68634027111. 3



68634027112. 4

Question Number : 78 Question Id : 6863406852 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

1 2 2 (ST T & U 3132 (Assertion -A) & =0 I [cTR4d T Al IR 39S BRUI (Reason R) P
IUH:

HTUFUT (A) : RS ea S 7 UEE 99] & g9 ©f abiad 3 |
BRI (R) : TP Tod T4, 1. se@esd] URd 315 ot |
SWRIdd Byl & U 4, Hid 3u 1y fapedl § ¥ F6l 3R &1 9g Iy |
1. ATYT R 1 961 § GUTR, A D! Jg! ARAT B |
2. AT R GH1 981 €. AT R, A 31 Tt soran 71§
3. A¥E 8 dfdT R WS AL B
4. A S 81 € Wb R WeI B

Options :

68634027109. 1
68634027110. 2
68634027111. 3
68634027112. 4

Question Number : 79 Question Id : 6863406853 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Subhash Chandra Bose met Goebbels and Hitler in Berlin.

Statement II: Indians. captured in North Africa, were handed over to him to start Indian Legion.
In the light of the above statements. choose the correct answer from the options given below.

1. Both Statement I and Statement II are true.

| )

. Both Statement I and Statement IT are false.
3. Statement I is true but Statement IT is false.

4. Statement I is false but Statement IT is true.

Options :

68634027113. 1
68634027114. 2
68634027115. 3
68634027116. 4



Question Number : 79 Question Id : 6863406853 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 g Py Ry e &

HYF L : Y 95 919 afei § Tged aul fgeer 9§ i |

FYF 1 : T 3B1oT § IRTER YR 37 T YR 1Y dier & & fordl g1 fagd |
SURIad PYH! & Ybr I -4 f4U 70 fdded! & 9 9t 3R &1 904 $ifou)

. PYT I YT HYT I S Iel 5

[ )

HYF Y PYA I S Tad e

[F¥]

YT 1 Gl ¢ U] HYA [17Tad & |

e

Y 17T § IR PU 11 He1 B

Options :

68634027113. 1
68634027114. 2
68634027115. 3
68634027116. 4

Question Number : 80 Question Id : 6863406854 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the correct statement:

A. The East India Company was founded by a Royal Charter in 1600.

B. It was not given monopoly of all trade.

C. The company formally started trading in India after setting scores with the Portuguese.
D. It was a joint stock company of London merchants.

Choose the most appropriate answer from the options given below:

1. A.B and D only

| B

.B. Cand D only
3.A.Cand D only
4. A, B and C only

Options :

68634027117. 1
68634027118. 2
68634027119. 3
68634027120. 4



Question Number : 80 Question Id : 6863406854 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
el HUHl B IgTH BT

A 5% SIS0 SO ®F R 1600 5. T UFH WTRT I gRI Bl T
B. 54 R IR &1 UHIUSHR el a1 Tl
C. BT A YRA & S9=IRe 30§ STUR & L2 3i1d Yoo 3 fGHd sRieR S & 915 @i |

.-

D. U8 @a- & gl &1 Siide wid S ol
- fad 12 fasped] § 9 Haiiie Sugead SR &1 997 S :

1. Pad A. BdUI D

2. Pad B, C dUTD
3. A A, CTUID

4. Had A BAYUIC

Options :

68634027117. 1
68634027118.2
68634027119. 3
68634027120. 4

Question Number : 81 Question Id : 6863406855 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct statements:

A. The First Indian Factory Act was passed in 1881.

B. It dealt primarily with the problem of child labour.

C. It didn't specify the work hours for children.

D. It provided for proper fencing off- of dangerous machinery.
E. It provided weekly holiday for all workers.

Choose the correct answer from the options given below:

1. A.B and D only

| B

.A. D and E only
3.A.Cand E only
4. A. B and C only

Options :

68634027121. 1

68634027122. 2
68634027123. 3



68634027124. 4

Question Number : 81 Question Id : 6863406855 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

el T BT UgTH DI

A. T YA Hhaedl Tae, 1881 H IR gl

B. U8 G®A: SIIYH &1 901 U 1 gl Ul

C. 38 g=di o fo7d 19 & Uc [iga =gl [ |

D. 591 @AT® HYHI & 9R] ORW aIsag] &) dae] Bl |
E. 385 g4l 4151 & g Araife® Saora $f il &l |

= fog v fo el ¥ Hel SR &1 999 SIfuU|

1. Pad A. BAUID

2. PAdA. DAYUTE
3. A A, CTYUTE

4. HAAA BAYUIC

Options :

68634027121. 1
68634027122. 2
68634027123. 3
68634027124. 4

Question Number : 82 Question Id : 6863406856 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 1T

LISTI LISTII
A Pagir 1. |a police office
B. [Diwan II. [Highest civilian office in Kingdom
C. [Deshpande II1. |a grant for the maintenance of troopy
D. [Faraskhana IV [records keeper for a pargana

Choose the correct answer from the options given below:

1. A-IIL. B-IV. C-I. D-II

| )

A-T, B-II. C-IV. D-III
3. A-IL B-I11, C-IV. D-1
4. A-IIL. B-II. C-IV. D-I

Options :



68634027125. 1
68634027126. 2
68634027127. 3
68634027128. 4

Question Number : 82 Question Id : 6863406856 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 1 1 gt 1 TaE S
a1 e 11
A [GFTR 1. [0 gfcry draiay
B. [ala 11 [7158 ® Tl G iUsR
C. [czmais 1L [441 o 3R o [l e
D [mgEEr | 1V [us 0E1 & o oaraial Wa- ard]

fofefad faeel & O 98t 3w & 994 i .

1. A-IIT B-IV C-I D-II

-

2.A-1 B-II C-IV D-III
3. A-II B-III C-IV D-I
4. A-III B-II C-IV D-I

Options :

68634027125 1
68634027126. 2
68634027127. 3
68634027128. 4

Question Number : 83 Question Id : 6863406857 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 1T

LISTI LISTII
Santhal 1. |Andhra
Chenchu tribe | II. Manipur
Thadoe Kukis | [II. Mayvurbhang
Bhils IV |Banswara

ofofw[=

Choose the correct answer from the options given below:

1. A-IL. B-1. C-III. D-IV

| )

A-IIL B-I, C-IL. D-IV
3. A-III, B-11, C-1, D-IV
4. A-IL, B-1IL, C-1. D-IV

Options :

68634027129. 1
68634027130. 2
68634027131. 3
68634027132. 4

Question Number : 83 Question Id : 6863406857 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 1 %1 et 1 3 TaE ifn
A 1 T
A [y R ]
B [dg®aar | ol
c prsiosr | [pavy
D [d& 1V [§15ars]
frafafad faeed ¥ 3 T8 SR &1 997 Fifoe -

1. A-II B-I C-III D-IV

| B

CA-IIT B-I C-II D-IV
3 A-II B-II C-I DIV
4. A-II B-IIT C-I D-IV

Options :

68634027129. 1
68634027130. 2
68634027131.3
68634027132. 4



Question Number : 84 Question Id : 6863406858 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List TT

LIST1I LISTII
Marshall excavated Mohenjodaro | I |1833
Dr. Sahani's excavation at Harappa| 11 [1951
Vats excavated Harappa I 11921

o ofw[

Cunningham finds a Harappan seal|] IV. ]1940

Choose the correct answer from the options given below:

1. A-IL. B-1. C-III. D-IV

[

AL B-IV. C-I1. D-1
3. A-IL, B-I1I, C-IV. D-1
4. A-IV. B-ITI. C-I, D-I1

Options :

68634027133. 1
68634027134. 2
68634027135. 3
68634027136. 4

Question Number : 84 Question Id : 6863406858 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

gt 1 51 et 1 3§ faH Sifen

T T T I
A [HTEE 3 Aigadics! &l 3cd i) 1 [1853
B. [SI.3R. Tig-! &1 g8l 3o 1L [1931
C. [39 - §SW &I Iod-+ [l 11 [1921
D [@ g & uw gawr ga e v [1940
= 50 U foped! & WEl SR &1 9uA S

1. A-II B-I C-III D-IV

| B

CA-TIT B-IV C-IT D-1
3 A-II B-ITI C-IV D-I
4. A-IV B-III C-I D-II

Options :

68634027133. 1

68634027134. 2
68634027135. 3



68634027136. 4

Question Number : 85 Question Id : 6863406859 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Arrange the following in chronological order.
A. Visit of Chinese pilgrim Fa-hien.
B. Guptas gained power.
C. End of the Kushan power in north India.

D. End of Skandagupta's reign.
E. Hunas occupied eastern Malwa.

Choose the correct answer from the options given below:

1.C.B.D.Aand E

[ ]

.C.B.A.DandE
3AB.D.CandE
4. EA B CandD

Options :

68634027137. 1
68634027138. 2
68634027139. 3
68634027140. 4

Question Number : 85 Question Id : 6863406859 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FrfREd &1 SR HrER SHafRid S :

A. T gt TR BT SHH |

B. T QEe! = G UId i |

C. TR YR H 0T e ®f ganw|
D. TH &I & UM &7 3id |

E. §UII gR1 gdf Hrefal iR SiiiaR |

fAefafed el & O Ot SO &1 99 Siforg|

1.C.B.D.AdYIE

| )

.C.B,A.DTYUIE
3.A.B.D.COUIE
4.E.A B.CAu D

Options :



68634027137. 1
68634027138. 2
68634027139. 3
68634027140. 4

Question Number : 86 Question Id : 6863406860 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Asrange the following in chronological order:

A. Babur's memoirs translated into Persian as Babur Nama.

B. Abul Fazl works on the Akbar Nama.

C. Lahori composes the first two daftars of the Badshah Nama.
D. Gulbadan Begum begins to write Humavun Nama.

E. Jahangir writes his memoir. Jahangir Nama.

Choose the correct answer from the options given below:
1.DAB.EandC
2.A.D.B.Eand C
3.A.D.E.Band C

4. EA B DandC

Options :

68634027141. 1
68634027142. 2
68634027143. 3
68634027144. 4

Question Number : 86 Question Id : 6863406860 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[=IeRET 1 PIIPHFER U HIfe:

A. 'SIERATHT & Y H §laY & IR0 &1 BRUTH a5

B. 3gd Boid & 'SHEATET TR HIY ATl

C. TERI - ‘STERME-THT & U8 &l THR (Daftars) B T B |
D. @S ST §RI 'THIEAMT & W@ Sl T3]

E. SgiT R gRI Y Y01 SERTRAMET &l dg- |

faAfeiad el ¥ O 98l SO &1 904 $ifoig -

1.D.AAB.EdYIC

[ B

JA.D.B.ETYUIC
3.A.D.E.BTYUIC
4. E A BDAYUC

Options :

68634027141. 1
68634027142. 2
68634027143.3
68634027144. 4

Question Number : 87 Question Id : 6863406861 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following in chronological order:

A. The Portuguese gave the 1sland of Bombay to King Charles as dowry.

B. The war in India begun between Portuguese and British.

C. Portuguese lost all their possession in India except Goa. D and Daman.
D. Thomas Roe reached the Mughal court.

E. English gave up all claims of Indonesia.

Choose the correct answer from the options given below:
1.LAD.CBand E
2.D.A.C.Band E
3.D.C.B.Eand A

4 B.C.D.AandE

Options :

68634027145 1
68634027146. 2
68634027147.3
68634027148. 4



Question Number : 87 Question Id : 6863406861 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T &1 SIIP I aR Uafid Sifo -
A. Rt 3 b7 o ot e gl gew | faar

B. YRd & ganierd! quT SIS & O 4G & U3M1d |

C. TTIaT, Sid YT g0 o Sierar garnierdl 4 yRa I a9 wui &= @l &g |
D. YIHY 3 {77 GIER ug |

E. 305 94 SS MR IR 9K g B1S 4|

feferfad faeedl 5 ¥ 98! SR &1 909 ST |

LA D CBdUE

| )

.D.A.C.BdYIE

[¥%]

.D.C.B.EdUlA

4. B.C.D.AdYIE

Options :

68634027145. 1
68634027146. 2
68634027147. 3
68634027148. 4

Question Number : 88 Question Id : 6863406862 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Chanakya's machination of Chandragupta's enemies is described in:

1. Arthashastra

| ]

. Indika
3. Nitisara
4. Mudrarakshasa

Options :

68634027149. 1
68634027150. 2
68634027151.3
68634027152. 4

Question Number : 88 Question Id : 6863406862 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ANV Bt T3 P GRAA! B GHTE TR (machination) BT Aifd frg & aftfa € 2
1. SR

S5

3. FifdaR

[

4. HalRI&H
Options :
68634027149. 1
68634027150. 2

68634027151. 3
68634027152. 4

Question Number : 89 Question Id : 6863406863 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Gupta age i known for literary contributions. Who compiled Amarakosha?
1. Amarasinha
2. Kalidas

3. Tulsidas

4. Shudraka

Options :

68634027153. 1
68634027154. 2
68634027155. 3
68634027156. 4

Question Number : 89 Question Id : 6863406863 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T T HIGI® ANTEH o ol WS § | SRS Bl 3541 [ 31 2
1. 3R

2. BIeHard

3. geriler™

4 P

Options :

o



68634027153. 1
68634027154. 2
68634027155. 3
68634027156. 4

Question Number : 90 Question Id : 6863406864 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In Rig Veda, cattle were considered to be symbol of wealth and a wealthy person was called:

1. Gopa

J

. Gomat
3. Duhitr

4. Govala

Options :

68634027157. 1
68634027158. 2
68634027159. 3
68634027160. 4

Question Number : 90 Question Id : 6863406864 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bide 1 Harkml &1 el &1 THIS T ST 41 931 U6 SRl oafed &1 Hel ol o -

4, e

Options :

68634027157. 1
68634027158. 2
68634027159. 3
68634027160. 4

Question Number : 91 Question Id : 6863406865 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Indians were first to use the decimal system. The Chinese learnt this from:

1. Aryabhata

| S]

. Arabs
3. Buddhist missionaries

4, Western world

Options :

68634027161. 1
68634027162. 2
68634027163. 3
68634027164. 4

Question Number : 91 Question Id : 6863406865 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST WU 1 a9 U Wi HRdE! A a1 | =il - 58 79 dia
1. 3HE
2. 3RE
3. dig g
4. OfgH ST

Options :

68634027161. 1
68634027162. 2
68634027163. 3
68634027164. 4

Question Number : 92 Question Id : 6863406866 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Who wrote a glaring account of the military exploits of Samudragupta?
1. Harishena
2. Meghavarman
3. Kalidas
4. Yashodharman
Options :

68634027165. 1
68634027166. 2



68634027167. 3
68634027168. 4

Question Number : 92 Question Id : 6863406866 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS 1 9 faoral @1 IR auiH faem a2

4. gYET

Options :

68634027165. 1
68634027166. 2
68634027167. 3
68634027168. 4

Question Number : 93 Question Id : 6863406867 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Mimamsa literally measns:

1. discussion of material elements.
2. the art of reasoning and interpretation.
3. means of attamning salvation.
4. devotion and salvation.

Options :

68634027169. 1

68634027170. 2

68634027171.3
68634027172. 4

Question Number : 93 Question Id : 6863406867 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ty T s e &
1. Hifde uaril ot s
2. T U1 TRSAT (interpretation) TR @ Bl
3. gfdd wife &1 H1ead
4. HfeRT YT gfe

)

Options :

68634027169. 1
68634027170. 2
68634027171.3
68634027172. 4

Question Number : 94 Question Id : 6863406868 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Babur succeeded to the kingdom of Samarkand but he was driven out by?

1. Afghans

-2

. Khiljis
3. Uzbeks
4, Mongols

Options :

68634027173. 1
68634027174. 2
68634027175. 3
68634027176. 4

Question Number : 94 Question Id : 6863406868 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SR YRS S W SHUDR B3 H ha 161 U= 34 981 9 fog- wman »
1. 3T
2. et
3. Josd
4, HAIAT

Options :



68634027173. 1
68634027174.2
68634027175. 3
68634027176. 4

Question Number : 95 Question Id : 6863406869 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Madhoji Scindia died in 1794 and was succeeded by:

1. Daulat Rao

2

. Sada Shiv Rao
3. Nana Fadnavis
4. Raghunath Rao

Options :

68634027177. 1
68634027178. 2
68634027179. 3
68634027180. 4

Question Number : 95 Question Id : 6863406869 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hreiisil e @1 1794 T G 51 775, aul 39T SaRli€eR] ol -
1. Greid I

2. 129 T4

3. FT Heard

)

4. TYAY TG

Options :

68634027177. 1
68634027178. 2
68634027179. 3
68634027180. 4

Question Number : 96 Question Id : 6863406870 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who is the author of Bustan?
1. Rumi

2. Somadeva
3. Saadi

4. Hemachandra

Options :

68634027181. 1
68634027182. 2
68634027183. 3
68634027184. 4

Question Number : 96 Question Id : 6863406870 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I @1 G D g ?
1. BHl
EEG)
3. gret
4. 8HE=
Options :
68634027181, 1
68634027182. 2

68634027183. 3
68634027184. 4

b

Question Number : 97 Question Id : 6863406871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Jing- 1 Kamil literally means :
1. Autummn crop
2. Perfect crop
3. Spring crop
4. New crop

Options :
68634027185. 1



68634027186. 2
68634027187. 3
68634027188. 4

Question Number : 97 Question Id : 6863406871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
- U-F11d &1 Wifecd 3 & :
1. TRC B! BHa
2. 349 B
3. 949d By
4. 7S BET

Options :

68634027185. 1
68634027186. 2
68634027187. 3
68634027188. 4

Question Number : 98 Question Id : 6863406872 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
The center of manuseript production in Mughal India was known as :

1. Filkhana
2. Shuturkhana
3. Farashkhana
4. Kitabkhana

Options :

68634027189. 1

68634027190. 2

68634027191. 3
68634027192. 4

Question Number : 98 Question Id : 6863406872 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR HRe H Uit &1 & &5 &1 59 =14 § ST ST 4T:
1. Bid @M1

2. JE G
3. PR EHT
4. foare@mT

Options :

68634027189. 1
68634027190. 2
68634027191. 3
68634027192. 4

Question Number : 99 Question Id : 6863406873 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who among the following was a female devotee of Shiva?

1. Mira

| S

. Andal
3. Karaikkal Ammaiyar
4. Marichs

Options :

68634027193. 1

68634027194. 2

68634027195. 3
68634027196. 4

Question Number : 99 Question Id : 6863406873 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrafafad 0 8 oF ue w6l Raviea dt 2
1. HRT
2. 3fd
 FREFDIT HHRER
4, HIRE

Options :
68634027193. 1

L]



68634027194. 2
68634027195. 3
68634027196. 4

Question Number : 100 Question Id : 6863406874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statements are correct:

A. Devendranath Tagore carried forward the tradition of Raja Ram Mohan Roy.
B. Brahmo Samaj did not made efforts to reform Hindu religion.

C. Paramhans Mandali begun reforms in Bombay.

D. Swami Vivekananda popularized Vedanta as fully rational.

E. Ramkrishan Paramhamsa was diseiple of Swami Vivekananda.

Choose the correct answer from the options given below:

1. A.B and C only

| B

A, B and D only
3.A.Cand D only
4. A.C and E only

Options :

68634027197. 1
68634027198. 2
68634027199. 3
68634027200. 4

Question Number : 100 Question Id : 6863406874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FefEad 9o A YT Hel 8 :

A, SaSATY TR IS THHIET T S ORERT S §es |

B. 5181 9T A {5 o7 I gUR & Ug 51 (64|

C. IRHEY HUSddl - ags § R Y3 64|

D. Wl fdasr-g 4 daid &1 guid: difes & &4 H 4Rkt fan
E. IHP W GRAEYH WrHl faderig & R 4|

TRy e § ¥ gt SR B1 I e |

1. PAA. BAUIC

2. Had A, BAYUTD
3. HAAA. CAYT D

4. A A, CAYUTE

Options :

68634027197. 1
68634027198. 2
68634027199. 3
68634027200. 4



